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. On the bottom of page 12, in the formula for o9, the sum goes from 1 to 20 (and not
from 1 to n)

. On pag. 42, the last equation should be V(0) = hg(0)S(0) + hp(0)B(0) instead of
V(0) = hs(0)S(0) + hp(0)V(0)

. On pag. 47, the first equality in the third equation should be
Vit+1)=V(t+1,2q,...,2,d)
instead of V4(t +1) =V (t + 1,2y,..., 74 u)

. On pag. 105, in the right hand side of the first equation there should be fx(y) instead of
fx(x); similarly in the right hand side of equation (5.7) there should be ¢y ,(y) instead

of pn ()

. In the last equation on pag. 189 it should be o+/Ty inside the argument of the function
g instead of ov/T, that is to say, the integration variable y is missing in the place where
the random variable X was in the previous equation

. On pag. 230, the result of the calculation for hg on the bottom is 1 and not %



